ID: 1

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) [3n] <6 2) |-3x| <18
&l 1 1 1 1 1 AN
\ T T T T T T T T T T T /
-5 4 -3 2 -1 0 1 2 3 4 5 -7-6-5-4-3-2-101 2 3 45 6 7 8 9
X
3) =<1 4) |—=| =2
6 3
pd 1 1 1 1 1 N
N T T T T T T T T T T 7
-7 -6 5-4-3-2-101 2 3 4 5 6 7 -8 -6 -4 2 0 2 4 6 8 10
5 [-1+a|>7 r
) |-1+al 0 ‘_ »
2 1 1 1 1 1 1 AN 4
\ T T T T T T T T T T T /
-10 8 -6 -4 2 0 2 4 6 8 10
/: : : : : : T T T T T T \
\—5—4—3—2—1 0 1 2 3 4 5 6/
7 |x-3]=3 8) [v—6|>1
&l AN
N1 T T T T T T T LI 4
-4 -3 2 -1 0 1 2 3 4 5 6 7 8 9 2 3 4 5 6 7 8 9 10
9) |x+4|27 10) |3k| <12
&l 1 1 1 1 1 1 1 1 AN &l 1 1 1 1 1 1 1 1 N
\ T T T T T T T T T T T T / \ T T T T T T T T T T T T T /
-16 -14 -12 -10 -8 -6 -4 -2 0 2 4 6 -7 -6 =5 -4 -3 -2 -1 0 1 2 3 4 5
12) (n-3|<7
11) P <2 ) | |
5
-5-4-3-2-101 2 3 45 6 7 8 91011
pd 1 1 1 1 1 1 1 1 1 1 1 L\
\ T T T T T T T T T T T T /
-8 -4 0 4 8 12
13) (5n| =5 X
I i |21
( T T T T : ) 5
-5 4 -3 -2 -1 0 1 2 3 4 5 6
44—ttt
-8 -6 —4 -2 0 2 4 6 8
15) |5+m|>5

-14 -12 -10 -8 -6 -4 2 0 2 4

W2 gegevs path-siorksheeh.ory th-worksheet
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17) [r—1|>4 18) [x-1]>2

&—1 1 1 1 1 AN
S T T T T T T T T T T 7
-7-6-5-4-3-2-101 2 3 45 6 7 89 -4 -3 -2 -1 0 1 2 3 4 5 6 7
19) |b+3] <2 20) |5v| > 25
&—1 AN &—1 1 1 1 1 1 AN
S T T T T T T 7 S T T T T T T T T T 7
-6 -5 —4 -3 -2 -1 0 1 -10 -8 -6 4 -2 0 2 4 6 8 10
21) |-6x| <6 22) [n+5|26
4 AN & 1 1 1 1 1 1 1 1 AN
S T T T T 7 < T T T T T T T T T T 7
-3 -2 -1 0 1 2 -14 -12 -10 8 -6 -4 -2 0 2 4
a n
23) |S|>1 24) |—| <1
3 5
-7 6 -5-4-3-2-101 2 3 4 5 6 7 -7-6-5-4-3-2-101 23 456 7 8

W2 gegevs path-siorksheeh.ory th-worksheet
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Answers to Assignment (ID: 1)
1) 2<n<2: (—I—l—l—O-l—l—l—O—l—l—I—) 2) —6 < x < 6 : €FOnimimjmmijjjj—j—j-———>
-6 -4 -2 0 2 4 6 8

-5 4 3 22 -1 0 1
3) 6<b<6: <—|—0:::::::::::
-7-6-5-4-3-2-1012 3 4567
4) x=260rx <—6 : Ctrm@—t—t—t——— Q)
5) a>8ora<—6:
6) 4d4<r<4: (—I—C

7) x=26o0rx<0:
—4—3—210123456789

8) v>Torv<5: ( A O—+—O

9) x>3orx<-11: (-n—n—lm—H—H—i—fﬂ—n-)
10) 4<k<4: (—|—|—|—0:::::::

——6—5—4—3—21012345

3 2-10 1 2 3 45 6

11) —10< p< 10 : ¢—@m= ;
—4 0 4 8 12
12) —4<n<10: (—F.:::::::::::::.—I—)
—2 0 2 4 6 8 10
13)n>101n<1‘ i i

—5-4—3—2—10 1 2 3 4 5 6

14) x2S or x5 -5 : €A—4@4—4—t—t—tort—t—b
15) m>0orm<—-10:
16) n>4orn<—4:

-8 -6 4
17) r>5o0rr<-3: (-I-I-I-I-O-l—H—H—H-O-I-I-I-I-)
18) x>3orx<-1:

-4 3 -2-10 1 2 3 4 5 6 17
19) 5<b<-1: (—l—o—l—l—l—o—l—l—>
20) v>5o0rv<-5: (—l—l—l-O-I—I—I—I—!-O-I—I—I—)
21) -1<x<1: <—|—|—0—|—0—|—>
22) n=lorn<-— 11 (—l—l-o-l—l—l—l—l—l-o-l—l—)
23) a>3o0ra<-3: (-|-|-|-|-o—|—|—|—|—|—o-|-|-|-|-)

-7-6-5-4-3-2-1012 3 4567

24) -5<n<5: (—I—l—.:::::::::.—H—I—)

-2 0 2 4 6 8

-14-12-10 8 6 -4 -2 0 2 4

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) [n+4|>5

-12 -10 -8 -6 -4 =2 0 2 4 6

3) |—6+x| > 10

-8 -6-4-20 2 4 6 8 1012 14 16 18 20

5) ‘— <3
\—12 -8 —:4 (:) 4 8 12/
7) |6n| <30
-8 -7-6 -5-4-3-2-101 2 3 4 5 6
9) [3x| <9
DRIV S R S S
11) |x+5] >3
“—~4—tt+t+—t+—t—t+—t—t—t—t—t—t——>
-12 -10 -8 -6 —4 -2 0
13) [1+a]>5
-9 8-76-54-3-2-1012 3 4567
15) |v+5] <10
D T A
17) |5k| >20

-7 -6 -5-4-3-2-10 1 2 3 4 5 6 7

=

N gegsgs palh-veorlsheeh.ory

Name

ID: 2

Date Period

2) [p-1|>3

-7-6-5-4-3-2-101 2 3 45 6 789

4) m-3] <4
&l 1 1 1 AN
Y210 1 2 3 45 6 7 8 9 10
6) |r+3|<7
¢ >

1 1 1 1 1 1 1
T T T T T T T T T T
-12 -10 -8 -6 4 -2 0 2 4 6

> 1

,
8 —
) |-

8-7-6-5-4-3-2-101 23 456 78

14) |5x| > 25
&~

-8 -6 -4 =2 0 2 4 6 8 10

16) |x+2| <4

&—1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-8 -7 6 -5 4 -3 2 -1 0 1 2 3

18) |sn| <30

-8-7-6-5-4-3-2-101 2 3 4 5 6 7
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20) |n+5|>2

p
19) [—| >3
5 &l 1 AN
N\ T T T T T T T T T T T T v
-10 -8 -6 -4 -2 0
-16 -12 -8 -4 0 4 8 12 16
22) |m—-6|>12
21) ‘— <2
-8 -6-4-20 2 4 6 8 1012 14 16 18 20
1 L L L L L L L L L L L LN\
< T T 7
-5 -4 3 -2 -1 0 1 2 3 4 5 6 7
23) |x-3| <3 24) |r+1|<6
N~ T T T T T T T T T T T v
-2 -1 0 1 2 3 4 5 6 7 8 -10 -8 -6 -4 -2 0 2 4 6

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 2)
1) n>1o0rn<-9 : G- —t

—1210—8—:6—:4—2 (:J 2 4 6
2) p>4orp <2 Gttt OO

-6 -4 -2 0 2 4 6 8
3) x>16orx<—4:

8-6-4-20 2 4 6 8101214161820

4) —1 <m < 7 : €Omimmipipipip—tp O)————>  5) -9<k<9: <—|—+0:::::::::o+—|—>
—21012345678910 -4 0 4 8 12
6) -10<r<4: (—I—C: ) :O—I—) 7) -S<n<5: <—H—l—c:::::::::o-+—>
-8 8-76-54-3-2-1012 3 456
8) r>3orr<-3: (-H-H-I-O-H—H—i-o-l-l-l-l-l-)
9) 3<x<3: (—I—I—’3_2 et o—|—|—>
10) b=120rb<-12: (—n-o-H—|—|—|—H—|—H—|-0-|-|-)
-12 -8 4
11) x>—2o0rx<-8: (—l—l—l—l—l—.ﬂ—l—H—l—.—l—l—l—)
-12 -10
12) nz6o0orn<—4:
-8 -6 4

13) az4ora<—6: (-l-.-l-.—|—|—|—|—|—|—|—|—|—0-|-.-|-)-

8 6 -4

14) x>50rx<-5: (-c—n-o-n—n—a—n—po-n—u—u—)

8 6 -4

15) -15<v<5: (—HOI—I—I—I—I—I—I—I—I—IOI—)
16) 6<x<2: <—|—|—C

8 7 %6 5 -4-3-2-10

17) k>4 ork<—4: (-o—l-o-o—|—|—|—|—|—|—|—o-|-|-o-)

-7-6-5-4-3-2-1012 3 45617

18) 6<n<6: (—H—.:::::::::::Q—l—)
19) p>15orp<— 15 (—O o

'l
L]
-15 -10 -5 0

200 n=-3o0orn<-7: (-I—I—I—I-Q—I—I—I—.-I—I—I—l-)
21) 4<x<4: <O

-5 4 —3 —2 1 0 l 2 3 4 5 6 17
22) m=18orm<—6:
-8 4 0 4 8 12 16 20

23) 0 < x < 6 : €H——Ommimipleim—j———— 24) -T<r<5: <—|—|-o-|—|—|—|—|—|-o-|—)
-2 -1 0 1 2 3 4 5 6 7 8

10 -8 —6 -4 -2

s mabh-worksheeh.ory
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Assignment

Solve each inequality and graph its solution.

1) |n+3| <4
S S S R
3) |-4b| > 20

ST t t t t t T T T T
-0 -8 -6 4 -2 0 2 4 6 8 10

> 1

n
5) |—
3
7-6-5-4-3-2-10 123 456 7 8

7) |—1+k|<6

9) |—6+ p| <6

-10 1 2 3 45 6 7 8 9101112131415

11) |3x| > 18

ya

< t t t t t t T T T T T )
-0 8 6 4 -2 0 2 4 6 8 10

13) |3r| >9

-7-6-5-4-3-2-101 23 456 7 8

r
15) ‘— <3
5

-16 -12 -8 -4 0 4 8 12 16

17) [n+1] <5

-7 -6 -5-4-3-2-10 12 3 4 5 6 7

=

N gegsgs palh-veorlsheeh.ory

Name

ID: 3

Date

2) |-6v| <30

-7 -6 -5 -4 -3 2 -1

4) |-4x| > 8

-7 -6 -5 -4 -3 -2 -1

Period

2 3 4 5 6

2 3 4 5 6

6) |—4+x|<1
S
8) ‘% <2

>

L
L]
4

8 6 -4 -2 0

1\
7

10) [n-3] <2
N N
12) |m-5| <6

-4 2 0 2 4

b
14) ‘— <1

3
EEREEEE -
16) |—1+x|<5

-6 -5 4 -3 -2 -1 0 2 3 4 5 6 7
18) |v+2] <1
) S ?

math-worksheet.org



19) |a+5|<7 20) |x-5|>8

&—1 1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T T 7
-4 -12 -10 -8 -6 -4 -2 0 2 -8 -6 4 -2 0 2 4 6 8 10 12 14 16
21) |-6x| <6 22) |-6n| > 36
&—1 1 1 1 1 1 1 N\
S T T T T T T 7 e|_|_|_|_|_|_|_|_|_H_|_|_|_|_|_|_|_H
-4 =3 -2 -1 0 1 2 3 -8 -6 -4 =2 0 2 4 6 8
X
23) |=| >3 24) |=| >3
5
>
-12 -8 -4 0 4 8 12 -16 -12 -8 -4 0 4 8 12 16

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 3)
1) =7 < n <1 ;| A Omimmii—j—(——————> 2) S<v<5:

8 -7-6 54-3-2-1201 2 3 -7-6-54-3-2-1012 3 456

3) b<—50rb> 5 : Gttt OOy
-8 -4 0 4 8

4) x<-2orx>2:
-7-6-5-4-3-2-101 2 3 456

S5) n>3o0orn<-3:

-6 4 -2 0 8
6) 3<x<5: <—|—|—|—o—|—o—|—|—|—> 7) =5 <k <7 : €Ol O—1—>
7 -8 6 4 -2 0 2 4 6 8 10
8) 6<a<6<—|—C: : : : :C: > 9) 0 < p <12 : €Onimimjmjmjujjjufi O————>
-8 6 4 -2 0 2 4 6 8 0 2 4 6 8 10 12 14
10) 1<n<5: €O ——1—>

11) x>6o0rx< 6 (—n—n—o—n—H—H—o-n—l—)
12) -1<m<11: (—I—I—.: e
-4 -2 0 2 4 6 8 10 12 14
13) r>30orr<-3:
14) -3<b<3:
-6 -5-4-3-2-1012 3 4 5 6

15)—15<r<15'(—C e p———-

-10 -5 0 5 10 15

-6 4 -2 0 2 4 6 8

16)—4<Y<6 Al ——> 17) —6 < 1 < 4 ; €O mimmjp—j—j——(———

-6 -5-4-3-2-1012 3 456 17 -7-6-54-3-2-1012 3 4567
18) 3 <V —1: ¢t —y——————>

—4 -3 -2 -1 0 1 2

19) —12 < a <2 : Qi) —-

-14 -12 -10 -8 6 4 -2 0 2
20) x>13orx<-3:
-8 6 4-20 2 4 6 8 1012 14 16
21) ~1<x<1: é—t—t—OmmbmmO—t—+>

0 1 2 3

_4 -3
22) n<—6o0orn=6: (—l—. ——t— :.—l—)

8 6 4 -2

23) k>9o0rk<-9: (-|—|O|—|—|—|—|—|—|—|—|O|—|—|-)

-4

24) x=150rx<— 15(—. } : ———

-15 -10 -5 0 5 10 15

s mabh-worksheeh.ory
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ID: 4

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) [r-3|<3 2) [1+m|<3
AT T S SR S A ARV S S T S S
3) |x+3|>1 4) In-6| <2
AR IR T R S B S I R
5) |-6b| > 24 6) n—1]>2
LIRSV SR S S S I NIV S T I B I
X 8) |-4v|>4
)< |-
3 /: : : : : : T T T T T I\
\—5—4—3—2—10 1 2 3 4 5 6/
\75 -4 -3 -2 -1 (I) 1 2 3 4/
a
9) ‘— <2 10) ‘— <1
4
DRI A DRI R I B
11) |-6+k| <3 12) |p-4|>4
(: T T T T T T T T |> e|_H_|_|_|_|_|_|_|_H_|_|_|_|_|_H
2 3 4 5 6 7 8 9 10 11 -4 -2 0 2 4 6 8 10 12
13) |x-3|>5 14) |n-5|>9
&~ >
-6 -4 -2 0 2 4 6 8 10 12 -8 6 4 -2 0 2 4 6 8 10 12 14 16 18
15) |sr| =20 16) |m+1|>5
<~ >
-8 -6 -4 -2 0 2 4 6 8 -8 -6 -4 =2 0 2 4 6 8
17) |-4x| <16 n
I o 2]
2
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
DI S T S S

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
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v b
19) |=|>1 20) |=| >3
6 5
pa 1 1 1 1 1 1 AN pa AN
< T T T T T T T T T T 7 < T T T T T T T 7
-10 -8 -6 4 -2 0 2 4 6 8 10 -20 -15 -10 -5 0 5 10 15
21) |x+1|>7 22) |—5+n|>6
4 AN 4 1 1 AN
< T T T T T T T T T T T T 7 < T T T T T T T T T T 7
-12 -8 -4 0 4 8 -4 -2 0 2 4 6 8§ 10 12 14 16
23) |v-5|>11 24) |a+2]>2
&—1 1 1 1 1 1 1 1 1 1 1 1 N\
eH_|_|_|_|_|_|_|_|_|_|_|_HH S T T T T T T T T T T T 7
-8 —4 0 4 8 12 16 20 -7 6 -5 4 3 2 -1 0 1 2 3 4 5

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 4)

1) 0<r <6 : ¢ Omil—j—(—————> 2) 4<m<2:
-1 0 1 2 3 4 5 6 7 8
3) r>—7orr<—4-(: T — Q—l—o—l—l—l-)

-7 6 5 4 3 -2 -1 0

4)4<n<8<—|—0 L — o—|—>

5

5)b<—401b>4 «(-l-.-t-.—|—|—|—|—|—|—|—0-o-|-|-|-)
6) n=3orn<-1: (—l—l—l—.—i—i—n—.—l—l—i—l—)

-7 6 5 4 3 -2 -1 0 1 2 3

—3—2—10 234567
7) -3<x<3: <—|—|—o ) ——>
-5 4 3 -2 —l 0 1 2 3 4
8) v<-lorv>1: ‘-5-4-3-2-16\1153515%’
9)—10<n<10(—I—C 40480—>
10)—4<a<4<—|—l—0 @ —+——>  1]1) 3 <F <9 @ t—lm———
—5—4—3—210123456 2 3 4 5 6 7 8 9 10 11

12) p>8orp<0: -
13) x>8orx<-2: (-l—.—o—|—|—|—|—o—|—|—)

-6 4 -2 0 10 12

14) n>14orn<—4: (-I—I-O—G—I—H—H—l—l—o-l—l-)'

8 6-4-20 2 4 6 8 1012141618

15) r=4orr < —4 ; Gmp—t——f—t——t—Qpi=P

—8—6—4—202468

16) m=4orm<—6 : Guuimng——i

| —
L . )
—8—6—4—202468

17) —4 < x <4 : € Ouimpriniuniunne@ 1> 18) —2 <71 <2 : €Ol O———>

-7-6-54-3-2-1012 3 45617 -4 3 -2 -1 0 1 2 3
19) v>6o0rv<—6:
—4 0 4 8
L

20) b=150rb<—15: (30—_?5_;0 +——+—+ o—)
21) x>6o0rx<-8: (—I—I-O—I—_IFI—I—I—I—O-I—I—)
22y n>1lorn<-1:

23) v=160rv<—6:

24) a>0ora<—4: (-l—l—l-o—l—l—l—o-l—l—l—l—l-)

-7-6-5-4-3-2-1012 3 435

-2 0 8 10 12 14 16

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) [3n] <9

“—4——t+—t+——+—+—+—+—+—+
-4 -3 -2 -1 0 1 2 3 4 5 6

3) |-6x] =30

12| <2
2
&—1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-6 -5 4 -3 -2 -1 0 1 2 3 4 5
9) |—4+n|>3
-4-3-2-101 2 3 45 6 7 8 91011
11) |-6n| =18
-8 -7-6-5-4-3-2-101 23 45 6 7
13) |3v| <6
4 } AN
\74 -3 -2 -1 0 1 2 3/
n
15) ‘— >2

N
A\ 4

T T T T T T T T T T T T
-6 -4 -2 0 2 4 6 R 10 12 14 16

82T geavspath-worksheeh ory

ID: 5

Name
Date Period
2) |—1 =2
) 3
D PR A S S S B
4) |ax| <12

\I:::::::IIIII
-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

6) |m+3| >5
A

-0 -8 -6 -4 =2 0 2 4 6

8) [x+1|26
N PR R S S S
10) [r+3|=2
<—10 -8 -6 —:4 -2 0 2>
12) |-4b| <20

-7-6-5-4-3-2-101 2 3 45 6 7 8

X
14) ‘— >2
5

16) |2+a|>7
RS
18) |2+ p| =2

I::::IIIIIIII
-3 -2 -1 0 1 2 3 4 5 6 7 8 9

math-worksheet.org



19) [n+1] <5 20) |2m]| <2

&1 N
ST T T T T T T T 7
-7 -6 -5-4-3-2-10 1 2 3 4 5 6 7 -4 -3 -2 -1 0 1 2 3
21) |k-4]>2 22) |-4r| <4
&1 1 1 1 N 4 AN
ST T T T T T T T T T T T T 7 ST T T T T T T 7
-2 -1 0 1 2 3 4 5 6 7 8 9 10 -2 -1 0 1 2 3 4
23) |-2x| > 10 n
24) |—|>3
&~
-10 8 -6 -4 -2 0 2 4 6 8
4 1 N
N 1 7

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 5)
1) 3<n<3: (—I—Q—l—l—l—l—l—.—l—l—l—)

-4 -3 22 -1 0 1
2) k=z6o0rk<—6: (—|—|—0—|—|—|—|—|—0—|—)
3) x<-Sorx=>5: (-|—|-0-|—|—|—|—|-0-|—|—)
-8 -6 4
4) 3<x<3:
-6 -5-4-3-2-101 2 3 4 5 6
5) x>18o0rx<—6:
-8 4 0 4 8 12 16 20
6) m=2orm<—8 : G—tmm—t—t—it—+ 4
-0 -8 -6 4 -2 0
7) _4<p<4. . " " " ™
8) x=5orx<-7:

Y n>Torn<l: (—o—n-l-o-l-o-|—|—|+|-o-|-o-|-|-)

6 -5 4-3-2-101 2 3 4 5

4

10);>101r<5(:::::._:4:_:o-|—|—.-)

11) n<-3o0orn=3: (-|-|-|-|-|-Q-|—H—|—|-o-|-|-|-|-)-

12) -5<b<5: (—H—Q:::::::::.—H—l—) 13) 2 <V <2 é——t—Ommlm—f—j————>
-2 0 6 8 —4 -3 -2 -1 0 1 2 3

14) x>10or x < — 10 (—n—n—o—u—l—H—H—H—c—o-l—)
15) n>120rn<-12: (-l-l-o-H—H—H—l—H—H-o-H-)
-16 -12 -8
16) a>5o0ra< 9.(—0—00|—|—|—|—|—|—|-0|—|—)-

-12 -8 —4 0 4 8
17) x>212orx<-2:
18) p=4orp<0:

19) 6<n<4:
-7-6-54-3-2-1012 3 45617

20) -1<m<1: (—i—l—l—O—l—O—l—i—)
21) kz6o0rk<2: (-l—l—l—l-o—l—l—l—o-l—l—l—l-)

—2—1012345678910

22) 1 Sr< 1 ét— Qi
23) x<-Sorx>5: (—l—l—l-o-l—i—l—l—i-o-l—l-)

-10 -8 -6 4

24) n>150rn < —15 : Gt O———+—+— O—)

-20 -15 —10 -5 0 5 10 15

-6 4 -2 0 2 4 6 8 10 12 14 16

-3-2-101 2 3 45 6 7 8 9

s mabh-worksheeh.ory
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ID: 6

Name
Assignment Date Period____
Solve each inequality and graph its solution.
1) |v+1]|24 2) [n+2|<1
AR RS R R D S
3) [3+x|24 y %)<

5) |k+6|<8 6) |a+4|>4
—+——t+—+—+—+—+—+—+—++> >
14 -12 10 -8 -6 -4 -2 0 2 4 10 -8 -6 -4 =2 0 2 4

7 |3x] <18 8) [3x| <15
-7-6-5-4-3-2-1012 3 456 7 89 -7-6-5-4-3-2-101 2 3 456 7 8
k
9 |X]>2 10) | 2] <2
4 6
—t—t+—+—t+—+—+—++—+++> >
-10 -8 -6 4 -2 0 2 4 6 8 10 -12 -8 -4 0 4 8 12
n 12) |n+3|<2
11) |=|>2
3 c , N
S 6 -5 -4 -3 ) -1 0o’
0 8 -6 4 2 0 2 4 6 §
13) |r+1] <5 14) |x-4|=3

<+ttt
-7 6 -5 4 -3 -2 -1 0 1 2 3 4 5

-3 -2-1 0 1 2 3 4 5 6 7 8 9 10

15) |m-5|<8 16) |x-2|<3
A S S T A S S T S S T S S >
-4 2 0 2 4 6 8 10 12 14 -4 -3 -2 -1 0 1 2 3 4 5 6 7
v 18) |-4n| <16
o [ o
5 &~
\—5 -4 -3 -2 -l 0 1 2 3 4 5 7

=

N gegsgs palh-veorlsheeh.ory
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20)

19) |3b] 29 ‘5 .,

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-8 -6 -4 -2 0 2 4 6 8

10
21) |-2+k| <5 22) |a-4| <4
LY S S S S S S S S
X 24 -5 <10
23) | 7|23 ) [p=s]

&—1

A\ 4

1 1 1 1 1 1 1 1
T T T T T T T T T T T T T
-8 6 4 -2 0 2 4 6 8 10 12 14 16

2 gagsve path-gssrsheel.ory

math-worksheet.org



Answers to Assignment (ID: 6)
1) v=3orv<-5: (-|—|—|-0-|—|—|—|-0-|—|—|-)

-10 -8 6 4

2) 3<n<-1: (—I—l—O—l—O—I—I—I—>
3)r>101v< —7: (-|-|-|-0-|—H—H—H-o-|-|-|-|-|-)

-10 —8
4) 6<b<6: —@ = 0—|—> 5) —14 <k <2 €O mimmp—t——————
-8 -6 —4 —2 -12 -8 —4 0 4
6)a>001a< -8: (—l—l—l-o-H—H—H—i-o-l-l-H-)
7) 6<x<6: <—|—C:4:ﬁ::::::::€>—|—|—|—) 8) =5 <ix <51 €HOmtmimpmpmtmpmpemtemt=O———1->
9) k>8ork<-8: (—l-()ﬂ—_er—l—l—HOﬂ—)
10) =12 < p < 121 &—OmprimmpemprmmmbempefmpempepeO——
-8 —4 0 4 8 12
11) n=60rn<—6: ‘ = ————+—+—@= -
12) S<n<-1: O b O——>
Y% 3 -1 0

4 3

13) 6<r<4: Q=

—7—6—5—4—3—2 10 l 2 3 4 5

14) x>7 or x < 1 : Gtrmimimi@——— @i
—3—21012345678910
15) 3<m<13: (—I-C 4
16) -1 <x<5:
-4 -3 -2 -1 0 3 4 5 6 17
17) v>10o0rv<-10: (—o—o—l—H—H—H—H—o-a—)
18) 4<n<4: (—I—C —— —_—— O—I—)
-3 —2 —l 0 1 2 3 4 5
19) b=3orb<-3:
—7—6—5—4—3—210123456
20) x=60r x < —6 : Guumimng—} —1

—8—6—4—20246810

02468101214

21) 3<k<7: (—I—C:::::::::O—l—l—) 22) 0 <a <8 : €Oy
4 -3-2-1012 3 456 78 9 ——1012345678910
23) x=12orx<-12: (—l-l-.-l—H—H—H—|+H-Q-|-|-)
-16 -12 -8
24) -5<p<l15:

-8 6-4-20 2 4 6 8 1012 14 16

s mabh-worksheeh.ory
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Assignment

Solve each inequality and graph its solution.

1) |x+6| <12

7) |3+v|<1
e N T T T
9) |x—2|s7

I::::IIIIII
-8 -6 -4 -2 0 2 4 6 8 10 12

11) |a+6|>10
D e o e o o e e e e e e e

=20 -16 -12 -8 -4 0 4 8

13) |5x|>5

&—1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T 7
-4 -3 -2 -l 0 1 2 3 4 5

82T geavspath-worksheeh ory

Name

ID: 7

Date

Period

-8 -6 4 2 0 2 4 6
8) [n-6|>2
& 1 1 1 1 N\
S T T T T T T T T T T T 7
0 1 2 3 4 5 6 7 8 9 10 11 12
X
10) |=| <3
5
-16 -12 -8 -4 0 4 8 12 16
12) |-4k| <4
&—1 AN
S T T T T T d
-4 -3 -2 -1 0 1
14) |3x| =18
4 1 1 1 1 1 1 1 AN
T T T T T T T T T T 7
-10 -8 -6 -4 -2 0 2 4 6 8

math-worksheet.org



17) |x+3] <1 18) [m+1]>5

&—1 AN
S T T T T T 7
=7 -6 =5 -4 -3 -2 -1 -9 -8-7-6-5-4-3-2-101 2 3 45 6 7
19) [n+5| <1 20) |p-4| <6
ya AN
S T T T T 7
-8 -7 -6 -5 -4 -3 -3-2-101 2 3 45 6 7 8 910111213
21) |-2n| >2 22) |r—2|>7
&—1 AN &—1 1 1 1 1 1 1\
S T T T T T T T T 7 S T T T T T T T T T T 7
-4 -3 -2 -l 0 1 2 3 4 5 -8 -6 4 -2 0 2 4 6 8 10 12 14
23) |sb| <30 24) |-4x| <20
&—1 1 1 1 1 1 1 1 AN
S T T T T T T T T T T T 7
8-7-6-5-4-3-2-101 2 3 456 7 8 -6 -5 4 -3 -2 -1 0 1 2 3 4 5 6

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 7)
1) -18<x<6: (—I—.-I-I-H-I-H-I-H-I-.-I—)

20 16 -12 -8
2) r<—4dorr>4:€ bt : :)

3)—1<n<3(—_|—_|2—_01—l—l—l—.—l—l—l—) 4)—1<m<1:<_:3 +—0O : O—>
5) —15 < b < 15 | —Ommim—t—————-
-15 -10 -5 0 5 10 15

6) —6 <1 < 6 : Ol —t———> 7) 4d<v<-2: <&
-8 6 4 -2 0 2 4 6 8 -5
8 n=8orn<4:
01 2 3 435 6 7 8 9 10 11 12

9) —-5<x<9: o

-8-6-4-'2052881012

L()
=0 &

LO

o)
| o
J

3

10) -15<x<15: (—_015 . T 0—)
11) a>4ora<-16: (—n—n-o-|—|—|—|—|—|—|—|—|-o-o-|—)-
=20 -16 -12

12) -1 <k<1: €4 E o—o—o—|—)

_4 -3
13) x>lorx<-1: (-l—_|3—_|2—9—|—o—|—|—|—|-)
14) x> 601 x < —6 : Gmimmtm@——+—+—+——@id
15) n=29o0rn<-9: (—I—I—IOH—_a—l—I—H—H.I—I—)
16) k=12 0rk<-12: (—l-_.lz-l—_ls—l—l—H—H—l—H-.-l—)
17) 4<x<2: é—+—+— *—+>

18) m>4orm<—6: (-I-I-I-O-l—H—H—H—H-O-I-I-I-)
19) 6<n<—4: <—|—|—o—|—o—|—>
20) 2<p<10: (—+-o-|-|-|-|-|-|-|-|-|-|-|-o-+—|—+—>
(-I—I—I—C e
21) n<—-lorn>1: = —— 5’
22) r>9orr<-5:
-8 6 4 -2 0 2 4 6 8 10 12 14

23) —6 < b < 6 : € Ouimipmipmijiie@———>  24) -5 <x<5:
-8 -6 4 =2 0 2 4 6 8

-6 -5-4-3-2-101 2 3 45 6
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Assignment

Solve each inequality and graph its solution.

<1

X
1) |=
)‘6

3) |-4+x|<2
<1 2 3 4:1 5 6 7>
5) |p+6]>9
< 16 -12 —:8 -4 0 4 >
7 x-1|21

9) |-2m| > 10
~—+t+t++—+—+t++—t++t+t+t++—t++>

-8 -6 -4 =2 0 2 4 6 8

11) [3r| <6
D T
n
13)‘—>2
4
NI SR B L S
15) |3k| > 6
NI S B
17) |n+6|>7
DRI L

"

N gegsgs palh-veorlsheeh.ory

ID: 8

Name
Date Period
2) ‘— <3
N -15 -10 -5 (:) g 10 15 20 7
4) |2+a|<8
IR B R A
6) |3n|29
-7 -6 5 -4 -3 -2-1 01 2 3 4 5 6
8) |k+5|>10
%I—l—l—l—H—l—l—l—l—l—l—l—l%
-16 -12 -8 -4 0 4 8
X
10) ‘— >3

1 1 1 1 1
< T T T T T T T T T
-20 -15 -10 -5 0 5 10 15 20

12) |v-2|>4
D I e e e e o e e o o o e e e

-6 -4 -2 0 2 4 6 8 10

14) |3+b|<3

16) |3+x|<6

-12 -10 -8 -6 -4 -2 0 2 4

18) |a+4|>3
—~——tt+—t+—+—t+—t+—t—t—t—t+—t——t—t—>

-10 -8 -6 -4 -2 0 2 4

math-worksheet.org



19) |5x| <15 X
20) |—| <3
&—1 1 1 1 1 1 1 AN 2
S T T T T T T T T T T 7
-6 -5 4 -3 -2 -1 0 1 2 3 4 5
-7-6-5-4-3-2-1012 3 456 7 89
m
21) ‘— >1 22) ‘— <2
S N\ <|||||||||||||IIIIII>
N L
-7 6 -5 4 -3 -2 -1 0 1 2 3 4 5 -8 -6 -4 =2 0 2 4 6 8
23) |5+x|>1 24) |n+1|27
&—1 1 1 N\ & AN
S T T T T T T T T 7 < T T T T T T T T T T T 7
10 9 -8 -7 -6 -5 -4 -3 -2 -l 12 -8 -4 0 4 8

2 gagsve path-gssrsheel.ory

math-worksheet.org



Answers to Assignment (ID: 8)
1) 6<x<6: (—l—O-l—l—l—l—l—O—l—)

-8 6 4 -2
2) —18 <V < 18 : €—Ormimmmmfummn MR
—15 —10 —S 0 5 100 15 20
3)7<r<6<—l—0 et O—l—) 4) —6 < a <10 : € @mimimjm—j——
3 -8 6 4 -2 0 2 4 6 8 10 12
5) p>3orp<-15: (-|—|O|—|—|—|—|—|—|—|—+01—|—)
6) n=3orn<-3: (—l—l—l—l—.—H—H—i—.—i—l—l—)

—7—6—5—4—3—2 -10 1 2 3 4 56

7) x=2o0rx<0: ( 0.0. + )

—3—2—101

8) k>5o0rk<—-15: (—0-IO|—|—|—|—|—|—|—|—|—|0|-0-)
9) m<-S5orm>5: (—l—l-o-|—|—|—|—|-o-|—|—)

8 6 -4

10) x>18orx<-18: (—n—n—n—n—n—n—n—n—u—)

—20 -15 10 -5 5 10 15 20
11) 2<r<2: <: 0 ; g >

12) v>6o0rv<-2: (-.—.—o—|—|—|—o—|—|—)
13) n>8orn<-8: (—I—I-O—I—I—I—I—I—I—I—O-l—)'
14) 6<b<0: <—|—0 — o—|—|—>
—5—4—3 —2 —1 0 1 2
15) k>2ork<
-7-6-5-4-3-2-101 2 3 45
16) 9 <X <3 1 &ot-Ontbmmtmpmpembempembemieni= O+

-12 -10 -8 -6

17) n=1lorn<-13: (—n—l—m—|—|—|—|—|—fﬂ—|—|-)

18) a=-lora<-7: (-a-u-l-u-o-l—H+|-o-|-|-|-n-2-)

19) 3<x<3: <—|—+—+—o-|—|—|—|—|-o—|—|—> 20) —6 < X < 6 : €O mimmjjmmjjjjjj—j—_-———>
-6 -4 =2 0 2 4 6 8

-6 -5 4 -3 -2-10
21) n>2o0rn<-2:
-7-6-5-4-3-2-1012 3 45

22) 8<m<8: (—o—n—n—n—n—n—n—n—o—)

8 6 -4 -2

23) x>—4orx<—6: (-l—l—l—l—o—|—o—|—|—|-)

-0 9 8 -7 6 -5 4 3 -2 -1

24) n=60rn < -8 : Gmimmpem@—t—t————— @t
-12 -8 -4 0 4 8

[ 5

s mabh-worksheeh.ory
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Assignment

Solve each inequality and graph its solution.

1) |r+4|<1
< - - - - - —>

-6 -5 -4 -3 -2 -1 0

3) [m-2|23
-5 4 -3 -2-10 1 2 3 4 5 6 7 8
b

5) ‘— >3
6

1 1 1 1 1
< T T T T T T T T T
-20 -15 -10 -5 0 5 10 15 20

JHE

9) [1+a]>7
>
11) |-2n| <12

-8-7-6-5-4-3-2-101 2 3 45 6 7 8

;
13) ‘— >3
6

4 1 1 1 1 1
< T T T T T T T T T
-20 -15 -10 -5 0 5 10 15 20

X

15) |[=| <2

&~ >

-10 8 -6 -4 -2 0 2 4 6 8

82T geavspath-worksheeh ory

Name

ID: 9

Date

Period

2) |-2x| <10

-6 -5 4 -3 -2-10 1 2 3 4 5 6 7

4) |5n| <15
~“H—t—+—+—+—+—+—+—+—+>
\—4 -3 2 -1 0 1 2 3 4 5/
\
6) |=|<1
3
\—5 -4 -3 —:2 -1 0 1 2 3 4/
8) |—2+x|>6
LI S
10) |k+6]>11

12) |p-1|<1

&—1
< T T T T T
-1 0 1 2 3 4

A\ 4

14) |-4m| <16

&—1

A\ 4

N T : : : : : T T T T T T
-5 -4 -3 -2 -1 0 1 2 3 4 5 6

n
16) ‘— <3
3

ya

A\ 4

< t t t t t t T T T T T
-0 -8 -6 -4 -2 0 2 4 6 8 10

math-worksheet.org



17) |5+v|£1 18) |x—3|<8

&—1 AN &—1 1 1 1 1 1 1 1 1 1 1\
S T T T T T 7 S T T T T T T T T T 7
-9 -8 -7 -6 =5 -4 -3 -8 -6 4 -2 0 2 4 6 8 10 12

19) |b+5|>6 20) |5k| <30
-+ttt
-14 -12 -10 -8 -6 -4 -2 0 2 4 -8 -6 -4 =2 0 2 4 6 8
21) |x-2|<1 22) |n+4|<5
&—1 1 1 1 1 1 1 N\
S T T T T T T 7 H_H_|_|_|_|_|_|_|_|_|_|_|_H
-2 -1 0 1 2 3 4 5 -10 -8 -6 -4 -2 0 2 4
23) |a-3| <5 24) |-4x| <3
&—1 AN
S T T T T T T 7
-5 -4-3-2-101 2 3 45 6 7 8 910 -3 -2 -1 0 1 2 3 4

W2 gegevs path-siorksheeh.ory th-worksheet
. math-worksheet.org



Answers to Assignment (ID: 9)

1) S<r<-3: (—I—0—|—C ——> 2) 5<x<5:
2 a1 o

)y m=50rm<-1: (-l-u-o-o-o-H—H—c—o-o—u—l-)

—5—4—3—21012345678

4) 3<n<3(—I—C:':. O—+—+>

-3 2 - 0 1 2 3 4 5

5) b=18orb<-— 18 oA —

-20 —lS —10 —S 0 5 10 15 20

6)3<v<3<—|—|—0:':::0—|—>

-3 -2 -1 0 1 2 3 4
7 —-12<x<12: <—C:::::::::::C>—|—)

-12 -8

8) x>8orx<—4: (—l—i—o—|—|—|—|—|—o—0—)

-8 6 4 2 0
9) a>6ora<-8:

10) k=5o0rk<-17: -(-|-|-|Q|—|—|—|—|—|—|—|—|—|—|o|-0-)

-20 -16 -12 -8

—-6-5-4-3-2-101 2 3 45617

11) 6<n<6: (—I—I—.:::::::::::.—I—I—) 12) 0<p<2: (—l—o—o—o—|—|—>
13) r> 18 orr<-— 18 (—lo-|—|—|—|—|—|—|-00—)
-20 -15 —10 —5 10 15 20
14) 4<m<4: <ttt —.—t—>
—3 —2 —1 0 1 2 3 4 5 6
15) 8<x<8: <—|—0 pppp————)  16) —9 <1 <9 | O i—j—j—t—|———(——)
—10 -8 -6 —4 -2 0 2 4 6 8 -8 —4 0 4 8
17) =6 <v < 4 : 4———Pmip———i—>
—9 -8 -7 -6 =5 -4 -3

18) S<x<11: €4—OH

8 6 4 2 0 2 6 8 10 12

19) b=1lorb<-11: (-l—l-o-|—|—|—|—|—|-o-o—|—)

-14 -12 -10 -8 6 4 -2 0
20) 6<k<6:<—|—o—|—|—|—|—|—o—|—> 21) 1 <x<3: O O——>
-8 6 4 -2 0 2 4 6 8 -2 -1 0 1 2 3 4 5
22) -9 <n <1 : é4-Ompmipmipmipippipipie O————>  23) -2 < q < 8 : - Ouiipmiiajipiaia)———>
2 4 -4 -2 0 2 4 6 8 10

10 -8 6 -4 =2 0

24) -2 < x <2 € Qmi——t—(——————

-3 2 - 0 1 2 3 4

s mabh-worksheeh.ory
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ID: 10

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) [-24+m|=>7 X
) |2+ m| 2 ‘_ .
&~—ttt—t+—t+—t+—t+r—tr—+—— 2
-8 6 4 2 0 2 4 6 8 10 12 14/
“~t——t+——t+—t+—t+—t+—t+—t+—t+r—+—++
\—7—6—5—4—3—2—1 o 1 2 3 4 5/
3) |5+p|=211 n
) | p| 4) |—|<2
“~——F—tt+t+t+t+t+t+t+++++++—> 4
-16 -12 -8 —4 0 4 8
& t t t +—i t t t +—i >
-10 -8 -6 4 -2 0 2 4 6 8 7
5) |x—6| <2 6) In-2| <1
& t t t — t t t t —> & t t t t t t —>
\1 2 3 4 5 6 7 8 9 10 11/ \—1 0 1 2 3 4 5 6/
7 |5x| =10 8) |m—4| <5
/: : : : : : : L] L] L] L] L] I\ /: : : : L] L] L] L] L] L] L] L] I\
\—5—4—3—2—101234567/ \—2—1012345678910/
9) |-2r| <8 10) |-6n| > 36
& t t t t t t t t t t >
-7-6 5-4-3-2-1012 3 4 5 6 7 N -10 8 -6 4 -2 0 2 4 6 8 7
b 12) [-2+Xx| >4
1) \_ . ) |2
5
-6 -5-4-3-2-101 23 456 728 9
“~“+—++++—++—+++++r—+++++>
-8 6 -4 2 0 2 4 6 8
13) |-6+a| <4 Vv
 ovdl [t s
¢ , s 4
\—l o 1 2 3 4 5 6 7 8 9 10 11/
~—t—t+—t+—t+—t+—+—t+—t++—++r—++>
-2 -8 —4 0 4 8 12
15) [3+x|>8 16) |p-3|<6
“~t— -+ttt t+—+—t+—+r—+—+>
\—14—12 -10 8 -6 4 -2 0 2 4 6 8 7 -6-5-4-3-2-101 2 3 456 7 8 910
17) |6x| <24 18) |k+4|<3
/: } } } } } } } } } :\
-6 -5 4 -3 -2 -1. 0 1 2 3 4 5 6 7 \—9 -8 -7 -6 -5 -4 -3 2 -1 0 1/

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
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20) |5+n| <10

X
19) ‘— >3
& AN
< T T T T T T T T T T T 7
-16 -12 -8 -4 0 4
pa 1 AN
N T T
-12 -8 —4 0 4 8 12
21) |-6m| <12 22) |2+v|<2
&—1 AN &—1 AN
S T T T T T T 7 S T T T T T T T 7
—4 -3 -2 -1 0 1 2 3 -6 -5 —4 -3 -2 -1 0 1 2
23) |x+4| <2 24) |2+b|>1
4 1 AN &—1 1 1 1 1 1 1 AN
S T T T T T T T 7 S T T T T T T T T T 7
=7 -6 -5 -4 -3 -2 -1 0 1 -6 -5 -4 -3 -2 -1 0 1 2 3 4

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 10)
1) m=9orm< -5 ; i@ t—t—t—t—t—t—t @ljmju

8 6 4-20 2 4 6 8 1012 14

2) x>20rx <2 : Guimmimmjmpm OOl

-7-6-5-4-3-2-101 2 3 45

3) p=6or p<—16: (—l-o-H—i—H—H—i—H-o-H—)-

-16 -12
4) 8<n<8: <—|—C: e o :o—) 5) 4<x<8: (—i—I—I—O—I—I—I—O—i—I—l—)
-4 0 4 8 8§ 9 10 11
6)1<n<3.(—l—l—C e ————1>
-1 0 1 2 3 4 5 6
7) x=2orx<-2:
-5 4-3-2-101 2 3 45 6 17
8) —1 <m <9 : ¢ Oupmmi—t———————> ) —4 <7 <4 ¢ imjnl—j———
-2-101 2 3 4 5 6 7 8 9 10 -7-6-54-3-2-1012 3 45617
10) n<—6o0orn>6:
-8 -4 0 4 8
11)b>501'b<_5:‘ —.8 —.6\/—.4 _12 (l) 5 Zvé ;;’
12) x=6o0orx<-2:
-6 -4 =2 0 2 4 6 8
13) 2 <a <10 : ——OmimmjemjmjjjO——
-1 01 2 3 4 5 6 7 8 9 1011
14) -12<v<12: <—0:::::::::::o—|—)
-12 -8 -4 0
15) x>50rx<-11: (—n—m—c—n—l—u—l—l—fﬁ—l-)
16) 3<p<9: (—H—l—.:::::::::::.—l—) 17) —4 < x < 4 : €¢—-Omimmjmmjmimi—j—)
0 2 4 6 8 10 -6-5-4-3-2-101 2 3 456 17

18) - 7<k<- 1.<—|—|—0' . ———

-9 -8 -7 -6 5 4 -3 -2 -1 0 1
19) x>9%o0rx<-9:

-12 -8 —4 0 4 8 12

20) —15 <1 < 5 ; O mi——(———————

-16 -12 -8 -4 0 4
21) 2 <m <2 64— ml—j————)

-4 -3 -2 -1 0 1 2 3
22) —4<v<0-(—|—|—0—|—|—|—.—|—|—>
23) 6<x<-2: (—|—0—|—|—|—0—|—|—|—>

24) b>—-lorb<-3: (-l—l—l—o—l—o—l—l—l—l—l-)

S5 4 3 2 -1 0

s mabh-worksheeh.ory
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